
82

1.4

1.5

1.1

3

6

5

4
7

10

3

9

1.3

1.5

1.2

 1.2 Griff

 2.   Untermesser

 4.   Befestigungsmutter M6

 6.   Amboss

 8.   Befestigungsmutter M5

 10. Befestigungsschraube M8

 1.1 Alu-Ovalrohr 

 1.3 Einpresshülse

 1.5 Bolzen

 3.   Befestigungsschraube M6

 5.   Obermesser

 7.   Befestigungsschraube M5

 9.   Stern-Präzisionsmutter

 1.4 Schneidekopfunterteil

 
 Ersatzgriffhälfte, komplett 
 Artikelnr.: 022811062

 Kopfunterteil

 Artikelnr.: 022811059  Ersatzobermesser

 Artikelnr.: 022811058

 Ersatzachse, komplett

 Artikelnr.: 022811061

13

4

12

11

 11. Stern-Präzisionsjustierung

 12. Unterlegplatte

 13. Achse M8

 Ersatzamboss 

 Artikelnr.: 022811060

TOSKANA 900.1A


